kku-ablogspat.com - a5k soghs los =

-1-

v

azal ya

L 4

CH3 4uls sleas

A Sllall dmalay 4y pucansl) diud) Cdiat
Alaal) — Ll

2015

http://kku-a.blogspot.com 4 g3all 8 L5 ol ¥
BAILAl) axiil odal) e A gaal) i g



http://kku-a.blogspot.com/
http://kku-a.blogspot.com/

beko-a, I:ulu:-gspcut com - el oot los

-2-

Revision v <L 'Wcm@

= Choose The Comct Answer: - G—P)_L Jad) | =« U diredtly “=
1-The fergy of Tig| light is proporktltinal to'its wavela‘gtlf} E N L \nver a

A) directly nversely , ~C) Randomly ES D) not related
I et

2- Light behaves as: : a‘\wx\ ,,\;L“N
b bb.c ‘ .

A) parfi ds__,L B) wave (oY bS}h aandb D) neitheranorb
—_—" Voo o o bz =

3- The‘a’ustance between identical ;:')%Ws on successiv'e w%s is called.............

A) Frequency ¢ B) Photon @Vavilfngth W@ber
M 2 \ el ol o - u

4-The electrcn’x’ﬁnetcc radiafion with Iongest wave Iength 15@@ % 'jﬂ

. )"'JJJ"?),

A) X—rays \.JB) Infra-red Q) Uv . @Raélo wave l(’gd_j
5- WhICh ofthe foliow%g%’;e of ra%natlon hag the hl Bst | ': ' ,
) c'——- I
A) Microwave B) lnfrared o L X-ray
6- Which of the following type of radid tic hast‘.." ) Sortes X
ich of the following typ a" ns & lowiesty ‘ Wbt 0

)Mlcrowave b) V,s,me Y
2\‘-&2_@‘“‘? ol s

d) Infrared &
7-The vﬁ\-/&élgijgth (7\) g, SOdl!,lt}l lamp's* Jrght 'ig 589,

22y

is the frequency of this
3 Xled o=t
58910~y

D) 1.0x 10’ sec™

30,\’}0

rd

o 52"(163
a) 5.21x10” sec™ b)5.76x107sec® , ) 5.76x10" sec” . 5.76x10 sec’
L]

1 gr....P
9- The Wave length (7\) i pf the lihe spectrum o@vhose frequency {u) is

&
) c 3-e0Yl0m
6.88 10" sec Jequals ... (C=3.00x10°mfs.) - A =2 —5—* —er

A) 4.63x 10° B) 4.36 x 10° C) 4.63 x 10° 4.36 x 10

-~

L ML .
10) What is the freguency (sY) of electromagnetic radiation tﬁét has a ﬁé’\‘foeflé?%th o{ 0.53 m?
[Rhydberg constant = 2.18 x10™® joule, € = 3 x 10° m/sec] Q

@57x10?§f r L=
B) 1.8x 108 ‘ ‘3& -
C)1sx1o§ 3 = 2

iy D)1.3 x 1028 IS

/4% AN ) :

11- The energy réqu red to excite electro @‘ n=1ton= ];‘, ISuuumerrarenseenne [Ry=2.18 x 1078)]
T —

a) 2.73 x 10" ' b) 4.70 x 102} @1 94 x 108 d) 1.70 x 10™)
Q-1 . -8 [ . ,‘.1
o ' e T I8 XIn «fd 3

[C=3 x 10° m/sec.]

Crnmamal Ao lfla It omaata
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o N (0
B et st e Sues s p ,d
- 12- What is the maximum number of electrons lubltvel ? d e 4]

A)6 10 Q14 : D) 30
1 a5 c_\gﬁz Juvt | =
13- THE woreeeerersennimen, UMber deterniines the shape of the orbital.

A)n .£ o C) mg D) mg

a .
14-The quantum number determines energy of electrons:

OaF PP ")’ y
15-The ... quantum number determines the orientation of ect magnetic field.
A P B B ,"-:}'. e
)n c"‘_"f‘f’,‘.—&" U‘JJ)‘E' ,fl 3 C)mﬁ s mS
16- The sublevel orbital which can be occupied with a maximug.!ectrons is:
(Apat . . B3d C) Bs, 5 Lo QR
& g/‘—, ‘ w.. {
17- W"l(lch sublevel is charactenzed by the et‘ of quantum rqumbe‘ss? d &
n=3 =2 | me=l i"f‘" s1/2 ¢ 13
' —

A) 3p 3d * g g } ] 1-5., Y o ‘
{ fﬁ(,._aJ A {}" o, e iy |
18- The Symbol of e ele ent o owzesx atOmlc-.nUmbe _ground state has m&

i‘{ ckf)mﬂw)n—(llé'r)"’

electronsis.. ""'- ‘ 7 G Dotz S NG & U
A) ;5Cl By €S
, =
19- How many unpalred e ctwns are the g-in ‘s'l. ,z} 3
i -t

AL ade D)4 LA

e

20- thch of quantum numbers can/éae used to char-atggize[—e subleve@ \ )";
nr

A) n= 4!m0mg Om=+1/2 -~ = B)n 3@—2 m=1mg=-1/2 | J

3f) _4_\4\_\/_/_\_
@n-—a =1m 36)—0 m =0, m,=+1/2 A —

oS
21- THé number ¢ of orbltals lr‘ub shell: o 3 p d ¢
<« 4= @
s B) 4 - @5' Y7
u»uy 1 )
22-The electron orbital described byn=3,1=2, m;=0, m, = +1/2
A ap (BY 3d C) 4s D) 4f
& M e
23- How many unp alred electrons are there is Sulphur ( atomic number :@
A)1d¢’ ) ()2 _ c)a v D5, Oy
v t ’ 3
24- The stblevel with hcl'é'ﬁeét ear‘ftergy is: oA 15,28, , 35 2 3PV
' Q- ' N 2 U S e A4 A

A)3d -~ (BYaf C) 65 ~ L3

3+ =(5) .q‘}.; (R ' ¢ 16 -6 PP

General chemistry / Revision CH.-3- (110 chem.) -2- w el . & e . Mr khaled 1426 W
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l‘)

A) uMg’” Ne

) 157, 252, 2p%, 352, 3P°, 3d*

A) 15%, 257, 2P, 352, 3%, 4 3d°

C) 18%, 252, 2P%, 352 3P°, 4p° 3d°
~ ’j}

A)F B) Br

27- Pauli Excsus:ou Pnnglple,sfates that

A) EI&?%HS OECUpy degenerate or gtafs smgfy to the maximum extent 2!

C) Electrons travels in wal\:sé‘hke hght D e

A) 1%, 282, 2P%, 352, 3pP°, 452, 3d®

)—'/' ,J‘.w ) [ iy /‘3 245 s :’_,_L ,(J \—L
25- The symbol of the element oftbmic number whose grounéi staté has complete J
‘ \

. jo
us, 39 Lo 5uct, 24"
{ Jg La> @b 2
A) Cr s 3 v, B) Ni Cu ) D) Ca
W _K\l 13 "2 pd \ y
- 26- What is the valance shell ele_cg'g_r_liggnﬁgu_an_on of phosphorou
3 2 3
A) 3S 3P }ﬁf—’/“—” B) 3P C) 18? , 28> , 2P x Q) ZS 4 2P

B) Electron of H atom I’f(u Ves in'a cnrcuEar path ca!led orbtt BQ‘M' ) MQM

,@The electronic'configuratioﬁ of Cr (24) is k[ S\ 3 d s

32)The electronic configuration of Cr (24) i v P

A)1s?, 257, 2p°, 357, 3P°, 45, 3d* 45 B) 1%, 25, 2P°, 357, 3p%, 45° , 3¢°
(Ch1s?, 257, 2¢°, 357, 3p°, 45" , 3d° D) A+ C

@the electronic configuration of Cu (29)is LLS' e d 10

o~

-

s ! Y 1 o
34- Which of the fo('l)owing atoms has the Iargest lameter?

‘ gr
General chemistry / Revision CH.-3- {110 chem.) J—?‘) m [t Mr. khaled /1436 H_

------------

LRI TRy Y vy ,
s ‘Vu‘“ L0\ Cara

‘N £ 20y M&é—’-u.a{\,/,dx/
D) No two electrons in an atom can have th same set ‘af. fo:ur quantum_num’hers

- 1519 ;““ y "Ln.l P - S
28- The ion that is tsoeiéc‘t'romc W|th ’s

~Aton'm: number ofu 26) 1\ Sy

15 25 .28 3s,§i’
.l-—.._l

E)Y'G

ol '|'
et 4 (c' V) BSBr Cj:
r

s 3 D) 15%25%,2p%3 6

n ‘numberef@'\ S
]S, 252, 26°, 352, 36°, 3d° QN
52 257,2p°, 38, 3P°, 3d° ff:;,
3d PV qg,..._, ~ ] el 1
B) 18%, 287, 2P%, 357 3p°, 45, 3d*
(DJys?, 252, 27, 362 3p°, 3d°

(B1s?, 257, 26°, 352 36°, 457, 30
D) 152,252, 2%, 352, 39°, 3d", 4p
=

@
c)cl cl o)
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. - L A,
7523/ by 50 g (AL
35- TheJon that is lsoelectromc with 35K ..................... ‘ ,
A) Ca*z o B) Na* C) uCF 2sBrey
%.; / » } \ y L)D @ Js &
3 lsoelectromc series are eler}n’en\ts having ....ceenenens -
A) t}fé'ﬁ’me number of neﬁtrons* @ he  same number of electrons.
< 2 —et ad
C) tﬁ?s%me atomic number D) the same mass number. (5 M3
37- Which pair is given in the correct order of i mcreasmg size t Ms C? Caq
A) Na* >Na (e)cr? > o oc > cr D) & > %
,AA [ -1 o . Yo ta
38- Which of the following elements has the haghest atomﬂlf radiys? . )"}’ 39—"’ C"e—‘
A)oF ) B) 58 9,@,0,“ @
> 39) The'set of quantum numbers, n=. .2 | .im/"‘a__ :
z(,.t—":r_‘ MJA b < *
A) is not allowed. Lz 2 C) B) descr;bes one ’ .f fi ve orbﬁai\; of a similar type.
1 not afowes

@descnbes an electron ina2p orbltal D) deSchbesan etec‘l:mn (&a’orbltal

40) The m. quachﬁm numberfor an elec anl the 4' :..;'.. =12 ‘& 3

- ,Q_ ‘ =t st 2 3
Almaybe@  whz ” Gy,

Chmez)
C) can have any valuefrom' s
.'-. 'd ". ~
41 Four electron in‘an: lta,m have tbe._quantum umber given below. Which electron is at
s ¢ d @

the lowé energy'?
@n 2,1=0,m=0, ms =

B)n—g)lm, Q:?-U‘z L -
D)n@l-l m=0,mg=+1/2 ‘
‘a)

& o
42) For,an electron that has quanttfrf\ number@nd
/“\"‘5 &r‘( AL -
@lt must have the qliantum numbe \
‘4

B) it must have the quantum numbe@—'ﬁ i

C) it must have the quantum number m, =

D) it may have the quantum numbers, I =0,1,2
43) For an electron that has quantum numbern d

A)it must Have the quantum numbe@
B) it must have the quantum numbe
@]

it must have the quantum number | = *

C)n 3,1=0,m=0,ms=-1/2

v/
M“‘Q‘QL =

c"l it may have the quantum numbers, 1=0,1,2,3

General chemlstry / Revision CH. -3 (110 chem.} ,4_' ' ) Mr.'khaled /1436 H

which of the following is true? 3

@ which of the following is true? |
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44) Wh}ch ,of the fol?;\fnngés*gs of quantum numbes is not aliowed?__j ""“? eSSt L‘(
an 3L_Dm| 1, mg=+1/2 VB)'“ 2§Om.@ms @ '
On=2,1<Hm= .0, mg=+1/2 )n= 3|=®m. @ms +1/2

45) ldx'rjltlfy the s\JB'—‘s_ke I in which electrons with the quantum number.@'nay be

found. '~ S P

Q,_ t ’L }
A) 4f B)3d” s,pd R O @3p -

L Jf‘f EEPER
46) What is the total number df sub-shelld assoczated with th@

A)5 . B)10 Q6 D)4
_ 5L :tlb’ 20 5,

47} A radzo station broadcasts on a frequency ¢f 90 x 105 s Whatls the waveﬂ;njgth of these
radio waves in{nanometers?] A = < 2 X | o)

(@B3x10® )33 x10° ]

-

273 f Ad
48) The frequency of the blue line in the spectmm

waveiength m}centlmeters'-’ l

A) 4.36 x 107 B)229x105
&

number@ =

n - fuL) f:,._l“
@the electron may be in {Tbrbital ~ " e

. Sub-shdll
B) the electron must have a spin quantum number ms =-1/2 ﬂ?' - /)\ z y
C) the electron may be i.@rbital - °\’Lﬂ-¢ le
' ?-“L ALY,
D) none of the above D - X Py REY)

— (T =+ e - g2y

4 h:
General chemistry / Revision CH.-B-At;:LG chem.) . PP
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